Erdgeschoss:
Wohnung 1

2 Personen
3 Zimmer 60,76 m?

Wohnung 2

1 Person
1 Zimmer 36,84 m?
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Wohnung 3

4 Personen
4 Zimmer 81,22 m?

McGrundriss

Wohnung4  Rollstuhlwohnung

2 Personen
3 Zimmer 70,71 m?
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Wohnung 5

2 Personen
2 Zimmer 49,43 m?

McGrundriss

Wohnung 6

1 Person
2 Zimmer 46,93 m?




Obergeschoss
Wohnung 7

2 Personen
3 Zimmer 60,40 m?

Wohnung 8

1 Person
1 Zimmer 36,61 m?

McGrundriss




Wohnung 9

4 Personen
4 Zimmer 80,99 m?

McGrundriss

Wohnung 10 Rollstuhlwohnung

2 Personen
3 Zimmer 70,15 m?
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Wohnung 11

2 Personen
2 Zimmer 49,15 m?

Wohnung 12

1 Person
2 Zimmer 46,40 m?
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Dachgeschoss
Wohnung 13

1 Person
2 Zimmer 51,09 m?

McGrundriss

Wohnung 14

1 Person
1 Zimmer 34,39 m?

McGrundriss




Wohnung 15

2 Personen
3 Zimmer 65,95 m?

McGrundriss

Wohnung 16

4 Personen
3 Zimmer 77,87 m?

McGrundriss



Wohnung 17

2 Personen
2 Zimmer 59,99 m?

)




